nanosecond

01/07/10 npl1igrt55162_ 35.ppp_defaut+78d-15 X-stp

90 — Following steps removed:
30 1 5516399826:Sxep1_bxg)ns
] 55164.00174 : Steg 2 200 ns
70 - 55170.99826 : Step 3;:300ns B
] 55171.00174 : Step 4 200 ns
60 - 55177.99826 : $tdp 5 -30Q s
] 55178.00174 : Step 300
50 - 55184.99826 : Step 7 -200 nss\
; 55185.00174 : Step 8 200 ns ™.
40 A 55191.99826 : Step 9 -200 Qs 7
30 E 55192.00174 : Step 10 200 ns h
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MJD

Mdev

Tdev /s

614400 s: Mdev=0.10387E-12 Tdev= 36845 ps
307200 s: Mdev=0.11965E-12 Tdev= 21222 ps
153600 s: Mdev= 0.15350E-12 Tdev= 13613 ps
76800 s: Mdev=0.21855E-12 Tdev= 9690 ps
38400 s: Mdev= 0.34509E-12 Tdev= 7651 ps
19200 s: Mdev= 0.44620E-12 Tdev= 4946 ps
9600 s: Mdev= 0.59342E-12 Tdev= 3289 ps
4800 s: Mdev= 0.81208E-12 Tdev= 2250 ps
2400 s: Mdev=0.11778E-11 Tdev= 1632 ps
1200 s: Mdev= 0.22601E-11 Tdev= 1566 ps
600 s: Mdev= 0.54886E-11 Tdev= 1901 ps

300 s: Mdev=0.17015E-10 Tdev= 2947 ps
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